









Honors Geometry

Chapter 10 Review
Envelope 1:
In the problem below, find the measure of each angle.  Refer to the diagram and the information given.

[image: image1.wmf]Ð



[image: image27.png]


 1 =  33˚

[image: image2.wmf]Ð

2 = 76 ˚

[image: image3.wmf]Ð

3 = 71 ˚

[image: image4.wmf]Ð

4 =49 ˚

[image: image5.wmf]Ð

[image: image26.jpg]>

1.2.3.4 5.8 7

S L

-~




5 = 71 ˚
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6 = 60 ˚
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7 = 49 ˚
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9 = 21 ˚
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18 = 50 ˚
Envelope 2:

1.  A pentagon circumscribes a circle.

     Find the perimeter.

48ft
2.  Given:  Three tangent (A, B, and C



        (ABC, AB = 5, BC = 8, and AC = 7.


 Find the radius of (C.

Radius C=5
3.  Write the equation of a circle with a radius of 
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 and a center of (-4, 7). 
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4.  Write the equation of a circle with the endpoints of the radius at (1,3) and (7,-5).
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Envelope 3:

1. Write an equation of a circle that contains the points 


A(1,1), B(1,-3), and C(-3,-3).
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Envelope 4:

1. Find the center and  radius of the 
circle with





the equation of x² + 4x + y² –18y = 0?






Center = (-2, 9)
Radius = 
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2. Find the point(s) of intersection between 





x² + y² = 64 and y = x - 8. 


Intersection Points: (0,-8) and (8,0)
Envelope 5:

1. If 2 pulleys with radii of 15” and 8” have centers 25” from each other.  What is the belt length to the nearest hundredth of an inch needed for this pulley system?

Length = 124.23”

Envelope 6:
1. Solve for x and y.
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 x = 26, y = 39
2. Solve for x and y.
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x= 50 ˚
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